SHEFEE FMTEFER
(10A L)

S 4=
P T *ﬂﬁfﬁfi ﬂEFEﬁ‘fT$%E§ FERB4BREDFECTY., ZECBICEEHVEITDT, ELDETTRRILEE), 2258 tERTH I B HE PR
48 5A 68 7R 8A 9A 108 1A 12A 1A 2R 3A
18 1| K| RBE—RFHE 1t 18 1% 1le 1| | TESEREE ERESE ||, 1]m 1|k %8 1t 1z
EEHA
R KA. — AT o
2| % 2 | K BERHBOHM(~5/17) 2|\ 2 | % iﬁ:’%ﬂ;ﬁ%ﬁ?ﬁ " 2|2 2 | A |BR(EREBEL), FRIER. |2 |X 2|t 2 |n|CEEHE 2 |x 2|\ 2|8
E fHRELL
3|k o |&|mrmEE 3 |n|ERTFHE 3 |x 3|+ 3% 3| * | EHEEALEMBR) 3|8 |xiton 3| x| ZROBABEEIS0.2) 5 o 3|n 3|n|PEe
4% + |zt|agyon o || SESHEHEDR. WHEE |, x| —#Ta 4n 4 |x|aEEATRE 4 |2 | B2EEHBRAR 4 |5 [wE*E 4 |x 4x 4 | x| nuEREERE 4 | x| BTAFHTRAERE
5le : | o |« BRMBERE 1200 RO | BEBLTROHI. BT |, 5 | BLEEBTAL —FTHL || 5 |« EERRZ( 2%, ) — s la 1 T D — 5 |x
REHE 1 ERRES. £l N 2B MTAL, —F T, B R
6|+ ¢ A ESrE1aE 6 || — 1, 6|t 6| x 6% Fmnm® wanl o |88 [AES 6| 6|A 6 | &AM EEAERE 6 | & | —F T
7|a | x|iirzaE 78| ttEns 7| 7% 7)x e | BREEST AN GEL | 7| x| R ATREEDG |5 o 78| nu2RBEESFRY
AER, mERX, AFRE st . | ERERKREEB B . £4%5F EIEEHTRANIE) .
8|n ﬁ; é:iii?)ﬁ;ﬁ(Z-ng) 8 |k EFIRITIEE 8|+ 8\A 8 |* 8|8 8| ﬁﬁx ~ 8 1%\ S rmaiy 8|8 8 |k 8|t 8|t
o | u| Aepst | BEEEmARE B | g | L) p— ole oln o lx ols ola o |# EEBRR. EERREDE | | ola
10| % V"« J"Ei BEEEPER | | 10 A | —F T 10| % 10|+ 10| % %géé% ERRREE | 10| 5 —F T 10(8 10| & | —F T 10| 10| A 10| A | RM2REKEFHER
1% @ﬁﬁg‘éiﬁggg L T 11| % | —F T, ERKAEEHA | 11|~ ERSAWEHE 1|8 Los 11] % 11| 2 |3EENTRN 1] A 11| % |3ERNTRR 1)+ 11| x| gEREOR 11| | st
12 o SREASRIBE. BAR | ;|5 12| | =3 ik 12| & | X$BRR. oo RANIF 12| A |{REHKE 12+ 12)x| JFER MARE LR ), « s paxmEna 12|a 12| | A AREEE 12 k|2 REEBER
- FARFERT AN 2F 2 ¢
13|+ 13 | A |ERHREZBE+249.00 13| x| BIEEMTL BA R, 13|+ 13| % 13| % 13|8 13| % 13| & | KIBER, T RHT 13|A|BADE 13| & |IERMEE. FATER. 6 | 13| % §§§$§n,§§aa,$ﬁ;§
FRIER. RBLL L BR
= : - " . - KRR, TUIRMIT, AT
o EEERR ERRKEE F1EEHATAM o —H TR, PERH. K " ﬁAZF‘B:Ei)JEI ka4 FHABIEYT AN - 24, F
14/m 14 | S 14| & L L 14|\ 14| % 4]+ 14| 8 |2E—v0A 14| % | 5B D2 14]x 140 |G EEREI. LR vty 14]2 Zi R AL TERE R
15| A E. KA ARG 15 % 15/ |BROA 15| B /@D A 15| & 158 15| x| —F T4 15| & |BFERNT R+ 15(8 15| % 15|+ 15| £
| "B TR I " 5 2ETHEARBRPE]. —F
16| % 2E|$$$ﬁEF=ﬁ§J§JE 16 | K| HEEHO 16| 8 16| X | EESAEFDHH 16| 16| A |HEDH 16| K 16|+ 16| A 18] % | Tix 16| 8 16| 8
17|k %(2% 30%432‘0’5?2*@’7 17 HR.DERBAS- |4 g 17| % 17|+ 17| % | —F T4 17| | ESAEEHA G 17| % | £ L ASEHA 17|% 17]8 17|58
Ash A4S e 3 2 o 5 SR ) e e pa . B4, & RE -
18| i?_;g_?é‘#kmmﬁ(aﬁ 18|t 18| % Eg?;]z;g“'iﬁa’mﬂﬁ” 18| ® | LS 18|8 18| 18| 2 |ATHIBAIR. EFREQ |18]8 18| K& |1-2F £ RMER14:35 18|+ 18] % §§§§:g§§§§ B 1| x e, enEHE
19| & |BES B, REES |18 19|% 19| |gest, s, 19)5 19| % |—# T 19]x 10| x| SRIFELCFLUBER 19| x| prass 19)a 19 x| arERERE 19 % |2, 2eEREES
20(+ 2|8 20| K| —F T, BEEKRS1300 |20(+ 20| % 20| & 20| B 20| % 20| &|# 65 20| 8 20| x| S REFES 20| % | EHDH
—F TR, EERXREY BERKOHM~1/31, £
21|\ 21 xg REHRZIF13:15, [RR| 21 | & | SERNT R 21| 8 |EEKEH7/21~8/31 21| % VARES 21|18 21| Kk [ BRHNFBOESE) 21|+ 21| & | BREFBR . ERRAIED (21| 2| AMEBRERM 21| 2 | F LS
3]
2|8 2 | % 22|+ 22| B | (R = HEH(~T/26) |22|% 2|8 [BH0R 22| % %g@g&;g%giﬁ§ 2|e 22|| 22| % 2|+ 2|+
23| % %gié%iﬁ%xgﬂ% B X ;ﬁ)ﬁﬁ‘w*ﬁ?‘ﬂz 23|\ 23| % 23| & 23| B |{REHKA 23| % 23|t (BB RHOR 23| A |RERX, FLUHS 23| * | BHEEHKQ 23| 8| REFEH 23|\
24| x 2 | @ REVRDTE+ 1330 |24]A 24| % 24| 24| % 2a || B T |24 24| x| BBHKEB12/20~1/6 | 26| 2| FALREEHAS 24| B|REH%E 24|AlIET. FHIRE
25| % | eRETHS 2 | £|PTASHHEZD 25| % %ﬁ’f‘ﬁ%*iﬁ%*gﬂ%ﬁ 25| % 25)m 25| 25| % 3L EEH 257 25|% 25(% 25| % gggﬁgﬂ%i’m*ﬁﬁﬁ 25| & | 4E kbR %3/25~3/31
R ABPHARIFE T R AER. | SEE=ZEBEAGER). &£ N
26| & gﬂiﬁﬁﬁ;ﬁ%%ﬁwﬁ(%/m 26 | B PTASMEAEROF KB 26| 26| # 26| A 26| ® 26|+ 26X s g 26| * 26| 8 26| % 26| & | EFFHIBMBFRRER
27)x 2|8 27| x| etkTs 27+ 27| % 27| 27|\ 27| K |SEESHMAHLE) (27| 27| 5 27| % :Ezgﬁm SR BT ||| RS ERER
= = %3@@%77&(1 2%), =) 5
28| | 2 | k| A AREEE D 28| 288 28|% 28|+ |PTAZ{LQ 28| n | SFESFEB. KHEMKT | 5| «| F B, 3EE 28] 28| u | KERHQ, ERRKIE |5 o 28| 2 |HA T
E(~11/22) == %2%) A
SELE=FEH. 2RITHR =
2| 7 ERAIDE 2 | 2|+ 2|5 2% 2|8 |PTAREROFHA  |20]x|(1-28). LS AaDA 20| o FIEEMZAL(-29). 159/ 29 | 2=
30( % o | £ RREZRFHE 30|® 30| % 302 30| 8 30| k|34 = H 30|+ 30| 8 30| | HEBHD 30|&
31 |2 | RER 31| % 31|+ 31| K | BEA=ZF@H 31|k 31| & [ EFREQ 31| 5| BER




